Quadratic Graphs Exam Practice

Q1. Complete the table of values for y = x> — 5

a) X 3 | 2 | 1] o 1 2 3
VG = =4 s~ (&
(3 marks)
b) On the grid below, draw the graph of y = x?> — 5
'8
(3 marks)

¢) Use the graph to estimate the solutions of the equation x? —5 =0
a’y“""‘.é’ lv'\ ;WV'( 2C = ""2'3 L —Z-])
C,..&A’wis o g.ab'vo( ( = 2" "" ?.3

Answer-

(3 marks)
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Q2. Complete the table of values for y = 2x* — 7x + 2

a) x 0 los ]| 1 | 15 | 2 | 25 | 3

R R T R S (3 I

(3 marks)

b) On the grid below, draw the graph of y = 2x% — 7x + 2

(3 marks)

c¢) Use the graph to estimate the solutions of the equation 2x% —7x +2 =0

mv:/l«.( /'qu.//'A/tVV/{ X:O(‘O O'S/
: oyj VML‘* /\. h l'Nvad( I‘:'&O‘Q 3-S

Answer: X= 031k y<7.)%b

(3 marks)
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Q3. Complete the table of values for y = 4 — x?

a) x 3 ] 2 | 1] o 1 2 3

Y |-l o| 3 & 2 0O]-S

(3 marks)

b) On the grid below, draw the graph of y = 4 — x?

(3 marks)

c¢) Use the graph to estimate the solutions of the equation 4 — x? = 0

X= -1, X=L

A S '1) = 2—
(3 marks)

Answer-:
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Q4. a) On the grid below, draw the graph of y = x(x — 3)

(6 marks)

b) Use the graph to estimate the solutions of the equation x? —3x +2 =0

' g
¢ L_WN<+lz0 = X Wl = -2
i&/ e \3-::' ),I-KT a..J \3":: - Y -

) Y-.-.:\'))'("-'T-"Z—

(=) ) A="2
(3 marks)

Answer:
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Q5. Here is a graph of y = x? — 5x + 3

+—10

a) Use the graph to estimate the solutions of the equation x? —5x + 3 =0

oy v At 13 e wArvd xX=0S bx=10
oy w At ,‘,\44,_,,',\/[‘,\,_,( L= Lo b .S

Answer:X= 0 -b I ik = L 302
(3 marks)

b) Use the graph to estimate the turning point of the graph y = x? — 5x + 3

Mo X=5 oy od fr iy cond-t
oy e e ik —T0 b 3.8

Answer: (2 o, * ‘SZQ

(3 marks)
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Q6. Here is a graph of y = 10 — x*

| l

a) Use the graph to estimate the solutions of the equation 10 — x? = 2

) Lolne pi Wy itrveA XY = -1 S l-w-'i-l)/
a’vvdl"/{ w b kA A= 2-S b 30

Answer: X= €U, x=g2R
(3 marks)

b) Use the graph to estimate the turning point of the graph y = 10 — x?2

Answer: CO/ \O)

(3 marks)

GCSEMathsRevision.com



Q7. Here is a graph of y = 5 — 3x — x?

/. | 2 \

a) Use the graph to estimate the solutions of the equation 5 — 3x —x? > 0
Al X< L ke
~ J
a Ir c/w,/v-"-a/c M #o )'nkf\/a'{ ~4.0 L" " l*S

-4t < £1N\a3
(3 marks)

Answer-

b) Use the graph to estimate the turning point of the graph y =5 — 3x — x?

€A = "\'S)' ﬁr-u-c \j—ravd-'«wtz‘ e,n:)vd(««

" th /\-ubd(/vyl \j = F+) o "q;,g

(3 marks)

Answer:
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Applied Problem Solving
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Q8. SportsZone model the cost C (£) they charge for their best-selling
tennis racket against their annual company profit P (£, 1000’s).

P

200

a profit of £40,000.

SO

Answer: £ S8
(2 marks)

b) Use the graph to estimate the optimal price SportsZone should charge
for the racket.

£1s
Answer: £2'S

(2 marks)

¢) Give 2 reasons why Sportzone’s model is unrealistic.

e Tl grvfF (7 a shspre— of £0 /s bo'sbor thon e el Hhen
nebe fre A fllig Pl o £S5 [ exoqyle — wemdaiC

. e pmodd i~ M mjy-jl\h& w7 ot ﬁ-% p»—fCe. Eiditek
ne SenCe Answer:

(2 marks)
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